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The mass will increase by 0.4 kg each

term. That's 0.4 kg, 0.8 kg, 1.2 kg...
{ 0.+ kg \

e NS [
A

b. Write how you worked out the numbers to keep the pattern going.




. a. Complete the table.

0.25

Write the rule you used to work out the masses.

This table shows some terms in a different pattern.

3

Write the rule you would use to continue the pattern. ompletethe table.

ers of jars.

kg 80 jars

Tiger cub

Cia

Samba
Chilli
Simba




- Using Mental Strategies to Multiply Two-Digit Numbers

l*. Canada 25c¢

. . France 32c

What does it cost to make an international phone call?

It depends on the country you
call, the time that you make

the call and how Jong you talk.
Ireland L45c

_ ‘ Italy 30c
How could you work out the cost of a four-minute call to Ireland?
—~ A N y 4

Grace used place value to work it out. Layla usedithe double double strategy.
LxLO+L x5 Double 45.then double 90
A N )} W
Luke used a doubling-and-halving strategy. . Jianna used factors like this.
L x 45 is the same as 2 x 90 Lx L5 jsthe sameas Lk x5 x 9

2 4

How much would it cost for a f i toe of the other countries?

What strategies could you us

How did you convert your answer to

How could you work o te call to France?

Use t
on page 137.

Home Phone International Call Costs per Minute from Australia

is table to complete Question | below and Questions 2, 3 and 4

Greece Iran Denmark Egypt Fiji Jordan Kenya India

L5c 55c¢ LOc 50c 70c 75¢ L5c 70c

I.  Work out the cost of making these calls from Australia.

qa. b. (o d.
Jordan for 3 minutes India for 6 minutes Fiji for b minutes Iran for 8 minutes
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Denmark




- Comparing Mental Strategies for Multiplication

Think about some of the different situations in which you use multiplication.

Multiplication is vsed fo work out the cost of
accommodation, car hire or telephone calls.

Imagine you have to buy carpet for this floor area.
Look at how these students work out the
area that has to be covered.

Mariam used place value and
multiplied the tens and then the ones.

[0 x25+2x25

Soma used a Liam used factors.

doubling-and-halving strategy.
12 x 25 is the same as 6 x 5

x 25 is the same as 3 x L4 x 25

Is there another way you could work it ou ich method do you like best? Why?

138

Use a strategy you like alcu . I 0 of a rectangle measuring 15 cm x 2L cm.

| multiplied 36 by 10. Then
| multiplied my answer by 5
becauvse 50 is 5 x 10.

| multiplied 36 by 100. Then |
halved my answer because 50
is one-half of 100.
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x 150 x 500




| dovble doubled $1.25 to work out the cost
of 4 issves. That's §5 and 3 x $5 is $I5.

Three issves cost §3.75. The cost of
issves is double double $3.75. The
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is the same as

is the same as

is the same as

is the same as

is the same as

| split 1.5 into two part o ’
is the same as 14 x | :

Add the partial
products.

| know 0.5 is one-half,
0.25 is one-quarter and
0.75 is three-quatrfers.




2. Use the thinking from Question | to calculate each product.
a. 28x125= b. 12x225=
d 22x|5= e. 18x35=

3. Use the formal multiplication algorithm to calculate these.

_$-_




| would start by estimating. |
know it is greater than a
three-quarter turn, so it must be
between 270 and 360 degrees.

Measuring angles with a

360° profractor is easy. I'm

not sure about how tfo use
80° protractor though.




a triangle with two angles
that are LO° that are 65°

<X+
00
a»

b. il
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d. 900° f. L80°
(_isthe same as (_isthe same as (_isthe same as










Angle sum = 90°

Angle a =

| can see that al| the angles that
meet at the bottom make a sfraight
line. The total must be 180°.

If six of those angles makes
then three of them must ha
that is half of that. That m
fogether they make a

Angle sum = 90°

Angle b =

Angle sum = 90°

Angle c=




Angles f and g are equal.

o

Angle f=

a. Angles f and g form a straight line. b. Angles q, r and s form a straight line.
Angle g is I134°. What is the difference Angle ris a right angle.

in size between Angle f and Angle g? Angle s is gl of Angle r. What size is Angle g?







2. Use what you know about angles around a point and on a straight line to work out the
unknown angles in each picture below. You can use a calculator but do not use a protractor.






